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1. 70035305 DEE
1.1 micro:bit D EARIRE

[I7E 1-1]
(RTFEI7AILA :microbit-reil-1-1)
basic.showLeds(’

- 2

HeEHH#H

HeEHH#H

LHEH.

-

)

(RTFEIT7AILE :microbit-rei1-2)
basic.forever(function () {
basic.showLeds("
- 2
HeEHH#H
HeEHH#H
LHEH.
-
)
basic.pause(500)
basic.clearScreen()
basic.pause(500)

)

1.2 7073 L0ER(ER, 8Y5RL)

(178 1-2])

(RTFEIT7AILE :microbit-rei1-2)
led.plot(2, 0)

led.plot(2, 1)

led.plot(2, 2)

led.plot(2, 3)

led.plot(2, 4)

[%17E 1-3]

(RTFEIT7AILE :microbit-rei1-3)

for (let y = 0; y <= 4; y++) {
led.plot(2, y)

}

[#&E 1-1]

(RTFEIT7AILE :microbit-ren1-1)

for (let x = 0; x <= 4; x++) {
led.plot(x, 2)

}

({518 1-4])

(RTFEIT7AILE :microbit-rei1-4)

for (let x = 0; x <= 4; x++) {
led.plot(x, 4 — x)

}

[#E 1-2]
(RTFEIFT7A4ILA :microbit-ren1-2)

for (let x = 0; x <= 4; x++) {
led.plot(x, x)
}

(#&E 1-3)

(RTFEIT7AILE :microbit-ren1-3-1)

for (let x = 0; x <= 4; x++) {
led.plot(x, x)

}

for (let x = 0; x <= 4; x++) {
led.plot(x, 4 — x)

}

(RTFEIT7A L4 :microbit-ren1-3-2)
for (let x = 0; x <= 4; x++) {
led.plot(x, x)
led.plot(x, 4 — x)
}

(%8 1-5)
(RTFEIT7AIL% :microbit-rei1-5)
for (let x = 0; x <= 4; x++) {
for (let y = 0; y <= 4; y++) {
led.plot(x, y)
basic.pause(100)
}
}

[15I%E 1-6]
(RTET7AIL4 :microbit-reil-6)
let x =0

while (x <= 4) {
led.plot(x, 4 = x)
x +=1

}

1.3 7O S LOER (HIK)

({58 1-7)
(RTFET7AIL% :microbit-reil-T7)
letc=0
basic.forever(function () {
¢ = Math.randomRange(0, 1)
basic.showNumber(c)
if (c==0){

basic.showlcon(IconNames.SmallDiamond)

} else {

basic.showlcon(lconNames.Square)

}
h

(58 1-8]
(RTFEIT7AIL% :microbit-rei1-8)
letc=0
basic.forever(function () {
¢ = Math.randomRange(0, 2)
basic.showNumber(c)
if (c==0){



basic.showlcon(IconNames.SmallSquare)

}else if (c==1){

basic.showlcon(IconNames.Scissors)

}else {

basic.showlcon(IconNames.Square)

}
)

[#&E 1-4])
JasS Ll

EEME

(1)
(RTFEIT7A L% :microbit—ens1-1)
for (let x = 0; x <= 4; x++) {
fr (lety = 0; y <= 4; y++) |
if (x ==y) {
led.plot(x, y)
basic.pause(100)
}
}
}

(2)(a)
(RTFEI7A LA :microbit—-ens1-2-1)
for (let x = 0; x <= 4; x++) {
for (let y = 0; y <= 4; y++) {
if (4-x<=y){
led.plot(x, y)
basic.pause(500)
}
}
}

(2)(b)
(RTFEIT7A LA :microbit—-ens1-2-2)
for (let x = 0; x <= 4; x++) {
for (let y = 0; y <= 4; y++) |
ifx==y|[4-x==y){
led.plot(x, y)
basic.pause(500)
}
}
}

(2)(e)
(RTFEI7A LA :microbit-ens1-2-3)
for (let x = 0; x <= 4; x++) {
for (let y = 0; y <= 4; y++) {
if(x==21ly==2){
led.plot(x, y)
basic.pause(500)
}
}
}

(3)

(RTFEIT7A L% :microbit—-ens1-3)
letc=0
input.onGesture(Gesture.Shake, function () {
¢ = Math.randomRange(0, 2)
basic.showNumber(c)
if (c==0){
basic.showlcon(IconNames.SmallSquare)
} else if (¢ == 1) {
basic.showlcon(lconNames.Scissors)
} else {
basic.showlcon(lconNames.Square)

}
h

2. 7053535 O E (%, &)
21 CoAlTAT—LA

(%8 2-1)

(RTFEIT7AIL% :microbit-rei2-1)
leta=0

letb =0

letc=0

input.onButtonPressed(Button.A, function () {
a = Math.randomRange(0, 2)
basic.showNumber(a)
c=a
hyouji()

)

input.onButtonPressed(Button.B, function () {
b = Math.randomRange(0, 2)
basic.showNumber(b)
c=b
hyouji()

)

function hyouji() {
if (c==0){
basic.showlcon(lconNames.SmallDiamond)
} else if (¢ == 1) {
basic.showlcon(lconNames.Scissors)
} else {
basic.showlcon(lconNames.Square)

}
}
(%8 2-2)
(RTFET7AIL% :microbit-rei2-2)
leta=0
letb =0
letc=0
letd=0

input.onButtonPressed(Button.A, function () {
a = Math.randomRange(0, 2)
c=a



hyouji()
b

input.onButtonPressed(Button.B, function () {
b = Math.randomRange(0, 2)
c=b
hyouji()

b

input.onButtonPressed(Button.AB, function () {
d=(a@a-b+3)%3
if (d==2){
basic.showString("A”)
}else if (d ==1){
basic.showString("B”)
}else {
basic.showString("AB”)
}
b

function hyouji() {
if (c==0){
basic.showlcon(IconNames.SmallDiamond)
}else if (¢ == 1) {
basic.showlcon(lconNames.Scissors)
}else {
basic.showlcon(IconNames.Square)

}
basic.clearScreen()
}
[T 2-1]
(RTFEIT7AILE :microbit-ren2-1)
leta=0
letb =0
letc=0
letd=0

input.onButtonPressed(Button.A, function () {
a = Math.randomRange(0, 2)
c=a
hyouji()

b

input.onButtonPressed(Button.B, function () {
b = Math.randomRange(0, 2)
c=b
hyouji()

b

input.onButtonPressed(Button.AB, function () {
d=(@a-b+3)%3
if (d==2){
basic.showString("A” + “Kati”)
}else if (d ==1){
basic.showString("B” + “Kati”)
}else {
basic.showString(“Hikiwake”)

}
h

function hyouji() {
if (c==0){
basic.showlcon(lconNames.SmallDiamond)
}else if (¢ == 1) {
basic.showlcon(IconNames.Scissors)
} else {
basic.showlcon(lconNames.Square)

}

basic.clearScreen()

}

22 BHTHT—L

[15I3E 2-3]

(RTET7A L4 :microbit-rei2-3)
let kotae = 0

let kouho = 0

kotae = Math.randomRange(0, 2)
basic.showNumber(kotae)

input.onButtonPressed(Button.A, function () {
kouho = Math.randomRange(0, 2)
basic.showNumber(kouho)

h

input.onButtonPressed(Button.B, function () {
if (kouho == kotae) {
basic.showlcon(IconNames.Heart)
} else {
basic.showlcon(IconNames.No)

}
h

(518 2-4)

(RTFET7AIL% :microbit-rei2—4)
let kotae = 0

let kouho =0

kotae = Math.randomRange(0, 4)
basic.showNumber(kotae)

kouho = Math.randomRange(0, 4)
basic.showNumber(kouho)
hantei()

function hantei() {

if (kouho > kotae) {
basic.showArrow(ArrowNames.South)
basic.clearScreen()

} else if (kouho < kotae) {
basic.showArrow(ArrowNames.North)
basic.clearScreen()

} else {
basic.showNumber(kouho)
basic.clearScreen()
basic.showString(“Hit")

}



}

input.onButtonPressed(Button.A, function () {
kouho += 1
hantei()

b

input.onButtonPressed(Button.B, function () {
kouho += -1
hantei()

b

(#%& 2-2)
(RTFEIT7AILE :microbit-ren2-2)
let kotae = 0
let kouho = 0
kotae = Math.randomRange(0, 4)
if (kouho == kotae) {
kouho = Math.randomRange(0, 4)
1
basic.showNumber(kouho)
hantei()

function hantei() {

if (kouho > kotae) {
basic.showArrow(ArrowNames.South)
basic.clearScreen()

} else if (kouho < kotae) {
basic.showArrow(ArrowNames.North)
basic.clearScreen()

}else {
basic.showNumber(kouho)
basic.clearScreen()
basic.showString(“Hit”)

}

}

input.onButtonPressed(Button.A, function () {
kouho += 1
hantei()

b

input.onButtonPressed(Button.B, function () {
kouho += -1
hantei()

b

23 US5T7MER

({51 %8 2-5)

(RTFEIT7AILE :microbit-rei2—5)

let a: number[] = []

a=1[321,5, 4]

for (let i =0;i <= 4; i++) {
basic.showNumber(alil)

}

basic.clearScreen()

for (let y = 0; y <= 4; y++) {

for (let x = 0; x <= aly] - 1; x++) {
led.plot(x, y)
}
}

(BA#D3I#HERVIE(TTL)]
(RTFET7AJL4 :microbit—-c23—kansu)
letc=0

¢ = sum(3, 5)
basic.showString(”3+5=")
basic.showNumber(c)

function sum(a: number, b: number): number {

lets =0
s=a+b
return s
}
(&3 2-3]

(BRTFEIF7AIL4A : microbit-ren2-3-1)
let x=0
let a: number[] = []

al0] =3
a1l =2
al2] =1
al3]=5
al4]l =4

for (let z=0; z <= 4; z++) {
basic.showNumber(a[z])

}

(RTFEIT7AJLE :microbit-ren2—-3-2)

let x =0

let a: number[] = []

al0] =3, a[1]1 =2, a[2] =1, a[3] = 5, a[4] = 4

for (let z = 0; z <= 4; z++) {
basic.showNumber(a[z])

}

(#&E 2-4)

(RTFET7AIL% :microbit-ren2-4)
let a: number[] = []

a=1[1,2]

let b: string[] =[]

b= ["AB”. "od"]

for (let i = 0; i <= 1; i++) {
basic.showNumber(ali])

}

basic.clearScreen()

for (let j = 0;j <= 1; j++) {
basic.showString(b[j])

}

(58 2-6)

(RTFET7AIL% :microbit-rei2—6)
let x =0

lety =0



let a: number[] = []
a=1[321,5, 4]
for (let x = 0; x <= 4; x++) {
for (let z=0; z <= a[x] = 1; z++) {
yv=4-2z
led.plot(x, y)
basic.pause(500)

}
2.4 10 E#HMD 2 EHADLTH

[$I7E 2-7)

(RFEIT7AILE :microbit-rei2—7)
let xp: number[] =[]

xp = [0, 0, 0, 0, 0]

for (let k = 0; k <= 31; k++) {
DtoB(k)
}

function DtoB(k: number) {
for (letj=4;j>=0;j—) {
xplil =k % 2
k = Math.floor(k / 2)
}
Plot()
}

function Plot() {
for (let i=4;i>=0:i——) {

if (xp[i] == 1){
let x =i
for (let y = 0; y <= 4; y++) {
led.plot(x, y)
}
}

}
basic.pause(1000)
basic.clearScreen()

}
EEME
(1)

({RFEI7A L4 :microbit-ens2-1)
let x =0

lety =0

let a: number[] = []

a=1[321,5, 4]

plot()

function plot() {
Graph_H()
basic.clearScreen()
Graph_V()

}

function Graph_HQ {
for (let y = 0; y <= 4; y++) {
for (let x = 0; x <= a[y] — 1; x++) {
led.plot(x, y)
basic.pause(500)
}
}
}

function Graph_VQ {
for (let x = 0; x <= 4; x++) {
for (let z=0; z <= a[x] — 1; z++) {

y=4-2z
led.plot(x, y)
basic.pause(500)
}
}
}
(2)

(RTFEIT7A L4 :microbit—-ens2-2)
let x =0

lety =0

let a: number[] = [Is

a=1[3,2 1,5, 4]

plot(0)
basic.clearScreen()
plot(1)

function plot(g: number) {
if (g ==0) {
for (lety = 0; y <= 4; y++) {
for (let x = 0; x <= al[y] = 1; x++)
led.plot(x, v)
basic.pause(500)
]
}
} else {
for (let x = 0; x <= 4; x++) {
for (let z = 0; z <= a[x] - 1; z++)
y=4-2z2
led.plot(x, y)
basic.pause(500)
]
}
}
}

3. EUHICKABEAI-FHIETOST S A
3.1 micro:bit D& FE > H &l H

(5128 3-1)

(RTFEIT7AIL% :microbit-rei3—1)

basic.forever(function () {
basic.showNumber(input.lightLevel())
basic.clearScreen()



basic.pause(1000)
b

(#%& 3-1]

(RTFEIT7AILE :microbit-ren3-1)

basic.forever(function () {
basic.showNumber(input.acceleration

(Dimension.X))

basic.clearScreen()
basic.pause(1000)

b

32 BEtUHIZLBEDHIMH

[%I7E 3-2]
(RTFEIT7AILE :microbit-rei3-2)
basic.forever(function () {
music.playTone(262,
music.beat(BeatFraction.Whole))
music.playTone(294,
music.beat(BeatFraction.Whole))
music.playTone(330,
music.beat(BeatFraction.Whole))
music.rest(music.beat(BeatFraction.Whole))

)

(#%& 3-2])
(RTFEIT7AILE :microbit-ren3-2)
basic.forever(function () {
music.playTone(262,
music.beat(BeatFraction.Whole))
music.playTone(262 * 2,
music.beat(BeatFraction.Whole))
music.playTone(262 * 4,
music.beat(BeatFraction.Whole))

)

(#% & 3-3]
(RTFEIT7AILE :microbit-ren3-3)
basic.forever(function () {
music.playTone(262,
music.beat(BeatFraction.Whole))
music.playTone(262 * 2,
music.beat(BeatFraction.Whole))
music.playTone(262 * 3,
music.beat(BeatFraction.Whole))
music.playTone(262 * 4,
music.beat(BeatFraction.Whole))
music.playTone(262 * 5,
music.beat(BeatFraction.Whole))
music.playTone(523,
music.beat(BeatFraction.Whole))
music.playTone(523 * 2,
music.beat(BeatFraction.Whole))
music.playTone(523 * 3,
music.beat(BeatFraction.Whole))

)

(518 3-3)
(RTFEIT7AIL% :microbit-rei3-3)
input.onButtonPressed(Button.A, function () {
music.beginMelody(music.builtinMelody
(Melodies.PowerUp), MelodyOptions.Once)

)

(& 3-4]

(RTFET7AIL% :microbit-ren3-4)

input.onButtonPressed(Button.A, function () {
music.beginMelody(music.builtinMelody
(Melodies.Dadadadum), MelodyOptions.Once)

)

input.onButtonPressed(Button.B, function () {
music.beginMelody(music.builtinMelody
(Melodies.PowerUp), MelodyOptions.Once)

h
3.3 EEE Y EMEoT=FHE - HlH

(518 3-4)
(RTFET7AIL% :microbit-rei3—4)
basic.forever(function () {
if (input.rotation(Rotation.Roll) < =10) {
music.ringTone(262)
}
else if (input.rotation(Rotation.Roll) > 10) {
music.ringTone(294)
}
else {
music.rest(music.beat(BeatFraction.
Sixteenth))
}
)

(# % 3-5)
(RTFET7AIL% :microbit-ren3-5)
basic.forever(function () {
music.ringTone(2 *
input.rotation(Rotation.Roll) + 262)
)

3.4 MKt Y EEoFFHA - HIEH

(518 3-5)
(RTFET7AIL% :microbit-rei3-5)
let AE =
basic.forever(function () {
AE = input.compassHeading()
if (R < 45){
basic.showString("N”)
}else if (A > 315) {
basic.showString("N”)
} else {
basic.clearScreen()

}
h



[%17E 3-6]
(RTFEIT7AILE :microbit-rei3—6)
let BAE =0
basic.forever(function () {
fAE = input.compassHeading()
if (E < 45){
basic.showArrow(ArrowNames.North)
}else if (FARE < 135) {
basic.showArrow(ArrowNames.West)
}else if (AEE < 225) {
basic.showArrow(ArrowNames.South)
}else if (AFE < 315) {
basic.showArrow(ArrowNames.East)
}else {
basic.showArrow(ArrowNames.North)

}
)

[#%E 3-6]
(RTFEIT7AILE :microbit-ren3—6)
let BAE =0
basic.forever(function () {
fAE = input.compassHeading()
if (AE <23){
basic.showArrow(ArrowNames.North)
}else if (A < 68) {
basic.showArrow(ArrowNames.NorthWest)
Velse if (AR < 113){
basic.showArrow(ArrowNames.West)
}else if (FARE < 158) {
basic.showArrow(ArrowNames.SouthWest)
}else if (A < 203) {
basic.showArrow(ArrowNames.South)
}else if (A < 248) {
basic.showArrow(ArrowNames.SouthEast)
}else if (A < 293) {
basic.showArrow(ArrowNames.East)
}else if (A < 338) {
basic.showArrow(ArrowNames.NorthEast)
}else {
basic.showArrow(ArrowNames.North)

}
)

3.5 o YEFEoI=FHR-HIE

({51 %8 3-7)
(RTFEIT7AILE :microbit-rei3-7)
basic.forever(function () {
if (input.lightLevel() < 1) {
pins.digitalWritePin(DigitalPin.PO, 1)
}else {
pins.digitalWritePin(DigitalPin.PO, 0)
}
b

EE B

(1

(RTFEIT7AJLE :microbit—-ens3-1)
let x =0

let y =0

let value = 0

let ans = 0

basic.forever(function () {
basic.clearScreen()
value = input.rotation(Rotation.Roll)
calc()
X = ans
value = input.rotation(Rotation.Pitch)
calc()
y = ans
led.plot(x, y)

b

function calc() {
ans = value / 10
ans = Math.round(ans)
ans = ans + 2
if (ans > 4) {
ans = 4
} else if (ans < 0) {
ans = 0
}
}

(2)
(RTFEIT7AJLE :microbit—-ens3-2)
lets =0
basic.forever(function () {
if (s == 0) {
basic.clearScreen()
} else {
basic.showLeds(’
HHE#H#H#
HHEH#H#H#
HHE###
HHE#H#H#
HHE#H#H#
D)
}
)

input.onButtonPressed(Button.A, function () {
if (s == 0) {
s=1
} else {
s=0
}
)

4. EHFBEEEFALETOTS LA



41 EBIEDOFA

(178 4-1]

(RFET7 4L % :microbit-reid—1)

radio.setGroup(1)

input.onButtonPressed(Button.A, function () {
radio.sendString(“hello”)

b

radio.onReceivedString(function (a) {
basic.showString(a)

)

(%78 4-2)
(RTFEIT7AILE :microbit-rei4-2)
radio.setGroup(1)
leta=0
radio.onReceivedNumber(function (b) {
if (a ==b){
basic.showlcon(IconNames.Heart)
}else {
basic.showlcon(IconNames.No)

}
)

input.onButtonPressed(Button.A, function () {
a = Math.randomRange(0, 2)
basic.showNumber(a)

)

input.onButtonPressed(Button.B, function () {
radio.sendNumber(a)

)
42 ERBEZFALELYAITAT—L

[ 7E 4-3]

(RTFEIT7AILE :microbit-rei4-3)
radio.setGroup(1)

leta=0

letc=0

letd=0

c=a

hyouji()

input.onButtonPressed(Button.A, function () {
a = Math.randomRange(0, 2)
c=a
hyouji()

b

input.onButtonPressed(Button.B, function () {
radio.sendNumber(a)

b

radio.onReceivedNumber(function (b) {
d=(@a-b+3)%3
if (d==2){

basic.showlcon(IconNames.Happy)

}else if (d ==1){

basic.showlcon(lconNames.Sad)
}else {
basic.showlcon(lconNames.Confused)

}
)

function hyouji() {
if (c==0){
basic.showlcon(lconNames.SmallDiamond)
}else if (¢ == 1) {
basic.showlcon(IconNames.Scissors)
} else {
basic.showlcon(lconNames.Square)

}
}

[#E 4-1]
TngSLHL
radio.setGroup(1)EZZBLTEHET 5,

4.3 EEHOH

(158 4-4)

(RTFET7AIL% :microbit-rei4-4)

basic.forever(function () {
pins.digitalWritePin(DigitalPin.P2, 1)
basic.pause(5000)
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 1)
basic.pause(1000)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 1)
basic.pause(4000)
pins.digitalWritePin(DigitalPin.PO, 0)

b

(& 4-2]

(RTFEIT7A L% :microbit-ren4—2-1)

basic.forever(function () {
pins.digitalWritePin(DigitalPin.P2, 1)
basic.pause(4000)
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 1)
basic.pause(1000)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 1)
basic.pause(5000)
pins.digitalWritePin(DigitalPin.PO, 0)

b

(RTFEIT7AJLE :microbit-ren4—2-2)

basic.forever(function () {
pins.digitalWritePin(DigitalPin.PO, 1)
basic.pause(5000)
pins.digitalWritePin(DigitalPin.PO, 0)
pins.digitalWritePin(DigitalPin.P2, 1)
basic.pause(4000)
pins.digitalWritePin(DigitalPin.P2, 0)



pins.digitalWritePin(DigitalPin.P1, 1)

basic.pause(1000)

pins.digitalWritePin(DigitalPin.P1, 0)
b

44 BEBIEIZCLDEEHOHIH

[%5I7& 4-5)

(RTFEIT7AILE :microbit-rei4-5)

radio.setGroup(1)

basic.forever(function () {
pins.digitalWritePin(DigitalPin.P2, 1)
radio.sendNumber(2)
basic.pause(4000)
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 1)
radio.sendNumber(1)
basic.pause(1000)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 1)
radio.sendNumber(0)
basic.pause(5000)
pins.digitalWritePin(DigitalPin.PO0, 0)

b

[%517E 4-6]
(RTFEIT7AILE :microbit-rei4—6)
radio.setGroup(1)
radio.onReceivedNumber(function
(receivedNumber) {
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.P0, 0)
if (receivedNumber == 2) {
pins.digitalWritePin(DigitalPin.P2, 1)
} else if (receivedNumber == 1) {
pins.digitalWritePin(DigitalPin.P1, 1)
} else if (receivedNumber == 0) {
pins.digitalWritePin(DigitalPin.PO, 1)
}
b

(#%& 4-3)

(RTFEIT7AILE :microbit-ren4-3)

radio.setGroup(1)

basic.forever(function () {
pins.digitalWritePin(DigitalPin.P2, 1)
radio.sendNumber(1)
basic.pause(4000)
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 1)
radio.sendNumber(2)
basic.pause(1000)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 1)
radio.sendNumber(3)
basic.pause(4000)
radio.sendNumber(4)

basic.pause(1000)
pins.digitalWritePin(DigitalPin.PO, 0)
b

(& 4-4]
(BRTFEIT7AIL4A : microbit-rend-4-1)
radio.setGroup(1)
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.P0, 0)
basic.forever(function () {
pins.digitalWritePin(DigitalPin.P2, 1)
radio.sendNumber(1)
basic.pause(4000)
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 1)
radio.sendNumber(2)
basic.pause(1000)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 1)
radio.sendNumber(3)
basic.pause(4000)
radio.sendNumber(4)
basic.pause(1000)
pins.digitalWritePin(DigitalPin.PO, 0)
)

(BRTFEIF7AIL4A : microbit-ren4-4-2)
radio.setGroup(1)
radio.onReceivedNumber(function
(receivedNumber) {
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 0)
if (receivedNumber == 1) {
pins.digitalWritePin(DigitalPin.PO, 1)
} else if (receivedNumber == 2) {
pins.digitalWritePin(DigitalPin.PO, 1)
} else if (receivedNumber == 3) {
pins.digitalWritePin(DigitalPin.P2, 1)
} else if (receivedNumber == 4) {
pins.digitalWritePin(DigitalPin.P1, 1)
}
b

({58 4-7)

(RTFEIT7AILE :microbit-rei4—7-1)
radio.setGroup(1)
pins.digitalWritePin(DigitalPin.P2, 1)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.P0, 0)

radio.onReceivedNumber(function
(receivedNumber) {
if (receivedNumber == 1) {
basic.pause(2000)
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 1)



pins.digitalWritePin(DigitalPin.PO, 0) basic.showlcon(lconNames.Square)

basic.pause(2000) } else {
pins.digitalWritePin(DigitalPin.P2, 0) pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 0) pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 1) pins.digitalWritePin(DigitalPin.PO, 1)
radio.sendNumber(1) basic.showlcon(IconNames.No)
basic.pause(4000) }
radio.sendNumber(0) h
pins.digitalWritePin(DigitalPin.P2, 1)
pins.digitalWritePin(DigitalPin.P1, 0) (2)
pins.digitalWritePin(DigitalPin.PO, 0) Ja455 Lt
}
b 5. PLIYRLETOTS L
(R#FT7 A )L 4 :microbit-reid~7-2) 51 %
radio.setGroup(1)
pins.digitalWritePin(DigitalPin.P2, 0) (45158 5-1)
pins.digitalWritePin(DigitalPin.P1, 0) (R T 74 L4 : microbit-rei5—1)
pins.digitalWritePin(DigitalPin.PO, 1) let b = 0
let a: number[] =[]
radio.onReceivedNumber(function a=1[6,4 23 7 1 5]

(receivedNumber) {

if (receivedNumber == 1) { input.onButtonPressed(Button.A, function () {

pins.digitalWritePin(DigitalPin.P2, 1) b = a[Math.randomRange(0, 6)]

pins.digitalWritePin(DigitalPin.P1, 0) basic.showNumber(b) Y

pins.digitalWritePin(DigitalPin.P0, 0) for (let i = 0: i <= 6: i++) {
}else { if (ali] == b) {

pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 1)

basic.showlcon(lconNames.Heart)
basic.clearScreen()
basic.showNumber(i + 1)

} basic.showString(” BanMe!”)
) break
input.onButtonPressed(Button.A, function () { ] }
radio.sendNumber(1) N
b
s 517 i & (#&E 5-1]
EE RRE (RTEI7A L4 :microbit-ren5-1)
letb=0
(1) let sh=10
(RTFEIT7AIL4A :microbit-ens4-1) let a: number[] =[]
radio.setGroup(1) a=1[6,4, 237 1,5]
pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.P1, 0) input.onButtonPressed(Button.A, function () {
pins.digitalWritePin(DigitalPin.PO, 1) b=((Mm+1)%10
basic.showlcon(lconNames.No) basic.showNumber(b)
b
input.onButtonPressed(Button.A, function () {
radio.sendNumber(1) input.onButtonPressed(Button.B, function () {
) sh = -1
for (let i = 0;i <= 6; i++) {
radio.onReceivedNumber(function if (ali] ==b) {
(receivedNumber) { sh =i
if (receivedNumber == 1) { break
pins.digitalWritePin(DigitalPin.P2, 1) }
pins.digitalWritePin(DigitalPin.P1, 0) }
pins.digitalWritePin(DigitalPin.P0, 0) if (sh >=0) {

10



basic.showlcon(IconNames.Heart)
basic.clearScreen()
basic.showNumber(sh + 1)
basic.showString(” BanMe!”)
}else {
basic.showlcon(IconNames.No)

}
)

[%57E 5-2]

(RTFEIT7AILE :microbit-rei5—2)
letc=""

let tmp =""

let a: string[] =[]

a=["red”, “green”, “blue”, “cyan”, “magenta”,

“yellow”, “white”]

input.onButtonPressed(Button.A, function () {
¢ = a[Math.randomRange(0, 6)]
basic.showString(c)
for (let i = 0; i <= 6; i++) {
tmp = ali]
if (tmp.compare(c) == 0) {
basic.showlcon(IconNames.Heart)
basic.clearScreen()
basic.showString(c)
basic.showNumber(i + 1)
basic.showString(”"BanMe!”)
break
}
}
b

[ 151 %& 5-3]
(RTET74 L% :microbit-rei5-3)

letb =0
leti=0
letj=0
letm=20

let a: number[] = []
a=1[1,2 3,4, 5 6, 7]

input.onButtonPressed(Button.A, function () {
i=0
j=6
b = a[Math.randomRange(0, 6)]
basic.showNumber(b)
while (i <=j) {
m = Math.idiv(i + j, 2)
if (alm] > b) {
basic.showArrow(ArrowNames.West)
basic.pause(100)
j=m-1
basic.clearScreen()
basic.pause(100)
} else if (a[m] < b) {
basic.showArrow(ArrowNames.East)
basic.pause(100)

11

i=m+1
basic.clearScreen()
basic.pause(100)

} else {
basic.showlcon(IconNames.Heart)
break

}

}
b

[ 5-2]
053 L%EL

(518 5-4)

(RTFET7AIL% :microbit-rei5—4)

let c =""

let cmp =0

leti=0

letj=0

letm=20

let a: string[] = []

a=["blue”, “cyan”, “green”, “magenta”,
“white”, “yellow”]

"red",

input.onButtonPressed(Button.A, function () {
i=0
i=6
¢ = a[Math.randomRange(0, 6)]
basic.showString(c)
while (i <=j) {

m = Math.idiv(i + j, 2)

cmp = a[m].compare(c)

if (cmp > 0) {
basic.showArrow(ArrowNames.West)
j=m-1
basic.pause(100)
basic.clearScreen()
basic.pause(100)

} else if (cmp < 0) {
basic.showArrow(ArrowNames.East)
i=m+1
basic.pause(100)
basic.clearScreen()
basic.pause(100)

} else {
basic.showlcon(IconNames.Heart)
basic.showNumber(m + 1)
basic.showString("BanMe!”)
basic.clearScreen()
break

}

}
)

5.2 E5|

[15I %8 5-5]
(RTET7AIL4 :microbit-rei5-5)



let a: number[] = []
a=1[3 21,5, 4]
for (letj=4;j > 0;j—) {
for (let k = O:k < j; k++) {
if (a[k] > alk + 1]) {
let tmp = alk]
alk] = alk + 1]
alk + 1] = tmp
}
}
}
for (let 1 = 0; | <= 4; I++) {
basic.showNumber(all])

}

[#% & 5-3]
(RTFEIT7AILE :microbit-ren5-3)
let a: number[] = []
a=1[321,5, 4]
plot2()
for (leti=4;i>0;i—-){
for (let j = 0;j < i; j++) {
if (alj1> alj + 1D {
let tmp = a[j]
a(j] = alj + 1]
alj + 1] = tmp
}
}
}
basic.clearScreen()
plot2()

function plot2() {
for (let x = 0; x <= 4; x++) {
for (lety =4;y >=5 - a[x]; y—) {
led.plot(x, y)
basic.pause(100)
}
basic.pause(500)
}
}

[#% & 5-4])
(RFEIT7AILE :microbit-ren5-4)
let a: string[] =[]
az["gr” "ve”. "bl”. “re”]
for (leti=3;i>0;i——){
for (letj =0;j <i;j++) {
let cmp = aljl.compare(alj + 1])
if (cmp > 0) {
let tmp = a[j]
a(j] = alj + 1]
alj + 1] = tmp
}
}
}
for (let k = 0; k <= 3; k++) {
basic.showString(a[k])
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}
53 N/ D&

(518 5-6]
(RTFEIT7AIL% :microbit-rei5—6)
letn=0
input.onButtonPressed(Button.A, () => {
n=1
basic.showNumber(n)
basic.showString(” Mai”)
hanoi(n, 1, 3)
basic.showString(” End”)
)

input.onButtonPressed(Button.B, () => {
n=n+1
basic.showNumber(n)
basic.showString(” Mai”)
hanoi(n, 1, 3)
basic.showString(” End”)

)

function hanoi(n: number, a: number, b: number)
{
if (n>1){
hanoi(n = 1,a,6 —a—b)
}
basic.showlcon(IconNames.Heart)
basic.pause(1000)
basic.showNumber(n)
basic.pause(500)
basic.showString(String.fromCharCode(64 + a))
basic.pause(500)
basic.showArrow(ArrowNames.South)
basic.pause(500)
basic.showString(String.fromCharCode(64 + b))
basic.pause(500)
basic.clearScreen()
if (n> 1) {
hanoi(n = 1,6 —a—b, b)
}
}

[#&3 5-5]
053 L%EL

(BREUVELETL)]
(RTFET7A L4 :microbit-c53—fact)
letc=0
¢ = fact(5)
basic.showNumber(c)
function fact(n: number): number {

if (n1=0) {

return n * fact(n — 1)
}

return 1



[#&% 5-6])
JasS Ll

54 BERGTHOREEBE

[%517E 5-7]
(RTFEIT7AILE :microbit-rei5—7)
let sO=0
let s1 =0
lets =0
sl =1
input.onButtonPressed(Button.A, function () {
if (s ==s0) {
s = sl
}else if (s == s1) {
syohin()
s =s0
basic.clearScreen()
}else {
basic.showlcon(IconNames.No)

}

basic.showNumber(s)

)

function syohin() {
basic.showlcon(IconNames.Target)
basic.pause(1000)

}

[ 15128 5-8]
(RTET74 L% :microbit-rei5-8)

let sO=0
let s1 =0
let s2 =0
lets =0
sl =1
s2=2

input.onButtonPressed(Button.A, function () {
if (s ==s0) {
s = s2
}else if (s == s1) {
syohin()
s =s0
basic.pause(1000)
basic.clearScreen()
}else if (s == s2) {
syohin()
otsuri()
s =s0
basic.pause(1000)
basic.clearScreen()
}else {
basic.showlcon(IconNames.No)

}

basic.showNumber(s)

)
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input.onButtonPressed(Button.B, function () {
if (s == s0) {
s = sl
} else if (s == s1) {
s =s2
} else if (s == s2) {
syohin()
s =s0
basic.pause(1000)
basic.clearScreen()
} else {
basic.showlcon(IconNames.No)

}

basic.showNumber(s)

h

function syohin() {
basic.showlcon(lconNames.Target)
basic.pause(1000)

}

function otsuri() {
basic.showlcon(IconNames.SmallDiamond)
basic.pause(1000)

}

input.onButtonPressed(Button.AB, function () {
basic.showlcon(IconNames.No)

h
EE B

(1)
(RTFEIT7AJLE :microbit—ens5-1)
let a: number[] = []
a=1[3,2 1,5, 4]
for (leti=4;i>0;i——){
letk=0
for (let j = 1;j <=i; j++) {
if (alj1 > alkD) {
k=j
}
}
let tmp =0
tmp = alk]
alk] = ali]
ali]l = tmp
}
for (let | = 0; 1 <= 4; |I++) {
basic.showNumber(a[l])

}

(2)(a)

(RTFEIT7A L4 :microbit—ens5-2-1)
let sO=0

let s1 =0

let s2 =0



lets =0
s1 =1
s2 =2

input.onButtonPressed(Button.A, function () {

if (s ==s0) {
s = sl
}else if (s == s1) {
s = s2
}else if (s == s2) {
syohin()
s =s0
basic.clearScreen()
}else {
basic.showlcon(IconNames.No)
}
basic.showNumber(s)
b

function syohin() {
basic.showlcon(IconNames.Target)
basic.pause(1000)

1

(2)(b)
(RTFEI7A L4 :microbit—-ens5-2-1)
let sO=0
let s1 =0
let s2 =0
let s3=0
let s4 =0
lets =0
sl =1
s2=2
s3=3

s4 =4

input.onButtonPressed(Button.A, function () {
if (s >=s0 && s <=s2) {
s +=2
}else if (s == s3) {
s =s0
syohin()
} else if (s == s4) {
s =s0
syohin()
otsuri()
}else {
basic.showlcon(IconNames.No)

}

basic.showNumber(s)

)

input.onButtonPressed(Button.B, function () {
if (s >=s0 && s <=s3) {
s += 1
} else if (s == s4) {
s =s0
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syohin()
}else {
basic.showlcon(IconNames.No)

}

basic.showNumber(s)

h

function otsuri() {
basic.showlcon(IconNames.SmallDiamond)
basic.pause(1000)
basic.clearScreen()

}

function syohin() {
basic.showlcon(lconNames.Target)
basic.pause(1000)
basic.clearScreen()

}
input.onButtonPressed(Button.AB, function () {
basic.showlcon(IconNames.No)

h

6. BIELTOYSL

6.1 BEDEK
[15I%8 6-1]

(RTFEIT7AIL% :microbit-rei6-1)

radio.setGroup(1)

input.onButtonPressed(Button.B, function () {
radio.sendString(“hello”)

)

radio.onReceivedString(function

(receivedString) {

basic.showString(receivedString)

h

(& 6-1]
(RTFET7AIL% :microbit-ren6-1)
radio.setGroup(1)
leta=0
a=0
input.onButtonPressed(Button.B, function () {
if (a==0){
radio.sendString(“hello”)
} else {
radio.sendString(“world”)
}
a+=1
)
radio.onReceivedString(function
(receivedString) {
basic.showString(receivedString)

h

6.2 FYRT—VITHBITBTRLYI LY



(%178 6-2]

(RTFEIT7AILE :microbit-rei6-2)
radio.setGroup(1)

let myAddress = 7"

let yourAddress = 7~

let message = ””

let yad = 0

yourAddress = “6”

myAddress = “5”

input.onButtonPressed(Button.A, function () {
yad =(yad + 1) % 9
yourAddress = String.fromCharCode(yad + 48)
basic.showString(yourAddress)

b

input.onButtonPressed(Button.B, function () {
message =~ + yourAddress + myAddress +

“hello”

radio.sendString(message)

)

radio.onReceivedString(function
(receivedString) {
if (myAddress == receivedString[0]) {
basic.showString(receivedString.substr
(2, receivedString.length — 2))
}
b

(%% 6-2])

(RTFEIT7AILE :microbit-ren6-2)
radio.setGroup(1)

let yourAddress = 7~

let myAddress = 7"

let message = ””

let yad = 0

myAddress = “2”

yourAddress = “1”

radio.onReceivedString(function
(receivedString) {
if (myAddress == receivedString[0] ||
receivedString[0] == “9”) {
basic.showString(receivedString.
substr(2, receivedString.length — 2))

}
)

input.onButtonPressed(Button.A, function () {
yad = (yad + 1) % 10
yourAddress = String.fromCharCode(yad + 48)
basic.showString(yourAddress)

)

input.onButtonPressed(Button.B, function () {
message =~ + yourAddress + myAddress +
“hello”
radio.sendString(message)

15

)
6.3 FBHEE

(51 %8 6-3)

(RTFEIT7AIL% :microbit-rei6-3)
let msg =""

let msg2 ="

let msg3 = """

let shift =0

shift = 5

input.onButtonPressed(Button.A, function () {
msg = “dream”
meg2 = "
for (let i = 0; i <= msg.length — 1; i++) {
msg2 = """ + msg2 +
String.fromCharCode(msgl[i].
charCodeAt(0) + shift)
}
radio.sendString(”” + msg2)
)

radio.onReceivedString(function
(receivedString) {
for (let j = 0; j <= receivedString.length — 1;
j+H) {
msg3 = """ + msg3 +
String.fromCharCode(receivedString
[il.charCodeAt(0) - shift)
}
basic.showString(”” + msg3)

h

[#&3 6-3]
053 L%EL

(5% 6-4)
(RTFET7AIL% :microbit-rei6-4)
letD=0
let E=0
let A=0
let N =0
let x =0
lety =0
y=0

N =55

=3

=17

17

> o m

radio.onReceivedNumber(function
(receivedNumber) {
y = receivedNumber ** D % N
basic.showNumber(y)

h

input.onButtonPressed(Button.A, function () {



x=A*xxE%N letm=n

basic.showNumber(A) for (let i =0;i<5;i++) {
radio.sendNumber(x) if (m%2==1) c++
b m=m>> 1
}
6.4 ITo—&H if (c%2!'=0){
n=n+1
[%517E 6-5] ]
(RTFEIT7AILE :microbit-rei6-5) return n
radio.setGroup(1) }
let data3 = 0
radio.onReceivedNumber(function function check_parity(n: number): boolean {
(receivedNumber) { letd=0
if (receivedNumber >= 0) { for (let j = 0;j < 5; j++) {
if (check_parity(receivedNumber)) { if (n%2==1) d++
basic.showlcon(IconNames. n=n>>1
SmallDiamond) }
Plotx(4, receivedNumber) if (d% 2 ==0){
radio.sendNumber(-1) return true
}else { elsef
basic.showLeds(" return false
..... }
CH#L# ]
LH#.
CHLH function Rev(x: number, c: number) {
..... leta =1
") aza<<{(c-1)
Plotx(4, receivedNumber) if ((a & x) ==0) {
basic.pause(2000) return a | x
radio.sendNumber(-100) } else {
} return (a ~ 31) & x
} else if (receivedNumber < —1) { }
basic.clearScreen() }
let z = set_parity(data3)
Plotx(0, z) function Plotx(k: number, n: number) {
radio.sendNumber(z) for (let | = 4; 1 >=0; I--) {
} if(n%2==1)]
N led.plot(l, k)
}
input.onButtonPressed(Button.A, function () { n=n> 1
basic.clearScreen() }
let data2 = set_data() }
let x = set_parity(data2)
Plotx(0, x) function set_data(): number {
radio.sendNumber(x) let data =0
h for (let n = 0; n < 4; n++) {
data = data + Math.randomRange(0, 1)
input.onButtonPressed(Button.B, function () { data = data << 1
basic.clearScreen() }
data3 = set_data() return data
let y = set_parity(data3) }
y = Rev(y, Math.randomRange(0, 5))
Plotx(0, y) EHERE
radio.sendNumber(y) D)
) (RTFEIT7AJLE :microbit—-ens6-1)
function set_parity(n: number): number { let wait_for ack = 0
letc=0

16



radio.setGroup(1)

input.onButtonPressed(Button.B, function () {
wait_for_ack = 1
radio.sendString(“hello”)

b

radio.onReceivedString(function
(receivedString) {
if (wait_for_ack == 0) {
basic.showString(receivedString)
radio.sendString(“world”)
}else {
wait_for_ack = 0
basic.showString(receivedString)
1
b

(2)
053 L%EL

(3)
(RTFEIF7A4ILE microbit-ens6-3)
radio.setGroup(1)
let data3 = 0
radio.onReceivedNumber(function
(receivedNumber) {
if (receivedNumber >= 0) {
if (check_parity(receivedNumber)) {
basic.showlcon(IconNames.
SmallDiamond)
Plotx(4, receivedNumber)
radio.sendNumber(-1)
}else {
basic.showLeds(’

Plotx(4, receivedNumber)
basic.pause(2000)
radio.sendNumber(-100)
}
} else if (receivedNumber < —1) {
basic.clearScreen()
let z = set_parity(data3)
Plotx(0, z)
radio.sendNumber(z)
}
)

input.onButtonPressed(Button.A, function () {
basic.clearScreen()
let data2 = set_data()
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let x = set_parity(data2)
Plotx(0, x)
radio.sendNumber(x)

h

input.onButtonPressed(Button.B, function () {
basic.clearScreen()
data3 = set_data()
let y = set_parity(data3)
y = Rev(y, Math.randomRange(0, 5))
Plotx(0, y)
radio.sendNumber(y)

h

function set_parity(n: number): number {
letc=0
letm=n
for (let i = 0; i < 5; i++) {
if (m%2==1) c++

m=m>> 1
}
if (c%2==0){
n=n+1
}
return n

}

function check_parity(n: number): boolean {
letd=0
for (let j = 0;j < 5; j++) {
if (n%2==1) d++
n=n>>1
}
if (d% 2 !'=0)
return true
} else {
return false

}
}

function Rev(x: number, c: number) {
leta =1
aza<<{(c-1)
if ((a & x) == 0) {
return a | X
} else {
return (a =~ 31) & x
}
}

function Plotx(k: number, n: number) {
for (let | = 4; 1 >=0; I--) {
if (n%2==1){
led.plot(l, k)
}
n=n>>1



}

function set_data(): number { h
let data = 0
for (let n = 0; n < 4; n++) { (RHFEIT 74 L% :microbit-hat7-1-3)
data = data + Math.randomRange(0, 1) radio.setGroup(1)
data = data << 1 radio.onReceivedNumber(function
} (receivedNumber) {
return data pins.digitalWritePin(DigitalPin.P2, 0)
} pins.digitalWritePin(DigitalPin.P1, 0)
pins.digitalWritePin(DigitalPin.PO, 0)
7. BEME if (receivedNumber == 1) {
pins.digitalWritePin(DigitalPin.PO, 1)
71 ES# (ROUSVIILKEH) } else if (receivedNumber == 5) {
pins.digitalWritePin(DigitalPin.P2, 1)
(RTFEIT7A L% :microbit—-hat7-1-1) } else if (receivedNumber == 6) {
radio.setGroup(1) for (let i =0;i < 5; i++) {
basic.forever(function () { pins.digitalWritePin(DigitalPin.P2, 1)
pins.digitalWritePin(DigitalPin.P2, 1) basic.pause(100)
pins.digitalWritePin(DigitalPin.P1, 0) pins.digitalWritePin(DigitalPin.P2, 0)
pins.digitalWritePin(DigitalPin.PO0, 0) basic.pause(100)
radio.sendNumber(1) }
basic.pause(4000) } else if (receivedNumber == 7) {
pins.digitalWritePin(DigitalPin.P2, 0) pins.digitalWritePin(DigitalPin.PO, 1)
pins.digitalWritePin(DigitalPin.P1, 1) } else {
radio.sendNumber(2) pins.digitalWritePin(DigitalPin.PO, 1)
basic.pause(1000) }
pins.digitalWritePin(DigitalPin.P1, 0) )
pins.digitalWritePin(DigitalPin.PO, 1)
radio.sendNumber(3) 7.2 CoAITAT—L (3 ARE)
basic.pause(4000)
radio.sendNumber(4) (BRTFEIT7AIL4E : microbit—hat7-2)
basic.pause(1000) radio.setGroup(1)
radio.sendNumber(5) leta=0
basic.pause(3000) letb=0
radio.sendNumber(6) letc=0
basic.pause(1000) let count = 0
radio.sendNumber(7) let d: number[] = []
basic.pause(1000) d = [0, 0]
)
} radio.onReceivedNumber(function
(RET 74 L% :microbit-hat7-1-2) (receivedNumber) {
radio.setGroup(1) d[count] = receivedNumber
radio.onReceivedNumber(function count += 1
(receivedNumber) { if (count >=2) {
pins.digitalWritePin(DigitalPin.P2, 0) b = d[0]
pins.digitalWritePin(DigitalPin.P1, 0) ¢ =d[1]
pins.digitalWritePin(DigitalPin.P0, 0) if(a==b& a==c&b==c|lal=b&&
if (receivedNumber == 1) { al=c&&b!=c¢c){
pins.digitalWritePin(DigitalPin.PO, 1) basic.showlcon(lconNames.Confused)
} else if (receivedNumber == 3) { Jelseif((a+1)%3==bll(@a+1)%3==0c)
pins.digitalWritePin(DigitalPin.P2, 1) basic.showlcon(IconNames.Happy)
} else if (receivedNumber == 4) { }else {
pins.digitalWritePin(DigitalPin.P1, 1) basic.showlcon(IconNames.Sad)
} else if (receivedNumber == 5) { }
pins.digitalWritePin(DigitalPin.PO0, 1) basic.pause(500)
}else { count = 0
pins.digitalWritePin(DigitalPin.PO, 1) b ]
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input.onButtonPressed(Button.A, function () {
a = Math.randomRange(0, 2)
c=a
hyouji2()

b

input.onButtonPressed(Button.AB, function () {
control.reset()

)

input.onButtonPressed(Button.B, function () {
radio.sendNumber(a)

)

function hyou;ji2() {
if (c==0){
basic.showlcon(IconNames.SmallDiamond)
}else if (¢ == 1) {
basic.showlcon(lconNames.Scissors)
}else {
basic.showlcon(IconNames.Square)

}
}

1.3 N A DB (EHEIZLELIERT)

(RBFE T 74 L% :microbit-hat7-3-1)
radio.setGroup(1)
letn=20
input.onButtonPressed(Button.A, () => {
n=3
basic.showNumber(n)
basic.showString(” Mai”)
hanoi(n, 1, 3)
basic.showString(” End”)
b

input.onButtonPressed(Button.B, () => {
n=n+1
basic.showNumber(n)
basic.showString(” Mai”)
hanoi(n, 1, 3)
basic.showString(” End”)

b

function send_pop(bar: number) {
let msg = (bar * 100) + 20
radio.sendNumber(msg)

}

function send_push(bar: number, n: number) {
let msg = (bar * 100) + 10 + n
radio.sendNumber(msg)

}

function hanoi(n: number, a: number, b: number) {

if (n> 1)1

hanoi(n = 1,a,6 —a—b)
}
basic.showlcon(IconNames.Heart)
basic.pause(1000)
basic.showNumber(n)
basic.pause(500)
basic.showString(String.fromCharCode (64 + a))
basic.pause(500)
basic.showArrow(ArrowNames.South)
basic.pause(500)
basic.showString(String.fromCharCode(64 + b))
basic.pause(500)
basic.clearScreen()
send_pop(a)
send_push(b, n)
if (n> 1) {

hanoi(n = 1,6 —a—b, b)
}

}

(RHFEIT 74 L% :microbit-hat7-3-2)
radio.setGroup(1)

let cmd =0
leto =0
let data = 0

let bo2: game.LedSprite[] =[]
let bar: number[] =[]

bar = [0, 0, 0, 0, 0]

let board1: game.LedSprite[] = []
let board3: game.LedSprite[] = []
let board5: game.LedSprite[] = []
mynum = 4

input.onButtonPressed(Button.A, function () {
mynum = (mynum + 1) % 4
basic.showNumber(mynum)

h

input.onButtonPressed(Button.B, function () {
radio.sendNumber(100 + 20)
)

input.onButtonPressed(Button.AB, function () {
basic.clearScreen()
if (mynum == 1) {
push(3)
push(2)
push(1)
}
)

basic.forever(function () {
led.plot(mynum — 1, 0)
)

radio.onReceivedNumber(function
(receivedNumber) {
data = receivedNumber



if (Math.floor(data / 100) == mynum) { }

cmd = Math.floor(data % 100 / 10) else if (bar[i + 1] '= 0) {
n = Math.floor(data % 10) bar[i] = n
if (cmd ==1) { break
push(n) }
} else if (cmd == 2) { }
pop2() }
} }
}
) function up(b: game.LedSprite[]) {
for (let | = 0; | < b.length; I++) {
function pop2() { b[l].change(LedSpriteProperty.Y, -1)
for (let j=0;j <=5 - 1; j++) { }
if (bar[j]'=0){ }
o = barlj]
if (0 ==1){ function down(b: game.LedSprite[]) {
bo2 = board1 basic.pause(500)
}else if (0 ==2) { for (let m = 0; m < b.length; m++) {
bo2 = board3 b[m].change(LedSpriteProperty.Y, 1)
}else if (0 == 3){ }
bo2 = boardb }
}
bar[j1=0 7.4 BEITOTSL(FEEHE)
for (let k = 0; k <= bo2.length — 1; k++) {
bo2[k].delete() (RTFET7A L4 :microbit—hat7-4)
} radio.setGroup(1)
break let sstring ="
} input.onButtonPressed(Button.B, function () {
} sstring = “s” + "hello”
} radio.sendString(sstring)
)
function push(n: number) {
let bo: game.LedSprite[] = [] radio.onReceivedString(function
if (n==1)1 (receivedString) {
board1 = [game.createSprite(2, 0)] if (receivedString[0] == “s”) {
bo = board1 basic.showString(receivedString.
} substr(1, receivedString.length — 1))
else if (n == 2){ sstring = "a” + “world”
board3 = [game.createSprite(1, 0), radio.sendString(sstring)
game.createSprite(2, 0), } else {
game.createSprite(3, 0)] basic.showString(receivedString.
bo = board3 substr(1, receivedString.length — 1))
}

else if (n == 3) {
board5 = [game.createSprite(0, 0),
game.createSprite(1, 0),
game.createSprite(2, 0),
game.createSprite(3, 0),
game.createSprite(4, 0)]
bo = boardb
}
for (let i =0;i < 5; i++) {
if (i '=0 && bar[i] ==0) {
down(bo)
if (i ==4){
bar[i] = n
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